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ENGLISH)

HYDROGEN

Evalution Choose The Best Answer

1. Which of the following statements about

hydrogen 1 is incorrect ?

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_ugxCZHhjeJhz


A. Hydrogen ion  exists freely in

solution.

B. Dihydrogen acts as a reducing agent.

C. Hydrogen has three isotopes of which

tritium is the most common.

D. Hydrogen never acts as cation in ionic

salts.

Answer: C

Watch Video Solution

H3O +

https://dl.doubtnut.com/l/_ugxCZHhjeJhz
https://dl.doubtnut.com/l/_ElMYuvm6XS2k


2. Water gas is 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

:

H2O(g)

CO + H2O

CO + H2

CO + N2

https://dl.doubtnut.com/l/_ElMYuvm6XS2k


3. Which one of the following statements is

incorrect with regard to ortho and para

dihydrogen ?

A. They are nuclear spin isomers

B. Ortho isomer has zero nuclear spin

whereas the para isomer has one

nuclear spin

C. The para isomer is favoured at low

temperatures

https://dl.doubtnut.com/l/_kB3WUZCYnpLw


D. The thermal conductivity of the para

isomer is 50% greater than that of the

ortho isomer.

Answer: B

Watch Video Solution

4. Ionic hydrides are formed by

A. halogen

B. chalcogens

https://dl.doubtnut.com/l/_kB3WUZCYnpLw
https://dl.doubtnut.com/l/_OqxFSFlmEH4h


C. inert gases

D. group one elements

Answer: D

Watch Video Solution

5. Tritium nucleus contains

A. 1p+0n

B. 2p+1n

C. 1p+2n

https://dl.doubtnut.com/l/_OqxFSFlmEH4h
https://dl.doubtnut.com/l/_uXRCQ3zQafpv


D. none of these

Answer: C

Watch Video Solution

6. Non-stoichiometric hydrides are formed by

A. palladium, vanadium

B. carbon, nickel

C. maganese, lithium

D. nitrogen, chlorine

https://dl.doubtnut.com/l/_uXRCQ3zQafpv
https://dl.doubtnut.com/l/_L702IISEhhBN


Answer: A

Watch Video Solution

7. Assertion : Permanent hardness of water is

removed by treatment with washing soda 

Reason : Washing soda reacts with soluble

calcium and magnesium chlorides and

sulphates in hard water to form insoluble

carbonates

https://dl.doubtnut.com/l/_L702IISEhhBN
https://dl.doubtnut.com/l/_icjhRxY7fMP4


A. Both assertion and reason are true and

reason is the correct explanation of

assertion.

B. Both assertion and reason are true but

reason is not the correct explanation of

assertion.

C. Assertion is true but reason is false

D. Both Assertion and reason are false

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_icjhRxY7fMP4


8. If a body of a fish contains 1.2 g hydrogen in

its total body mass, if all the hydrogen is

replaced with deuterium then the increase in

body weight of the fish will be

A. 1.2g

B. 2.4g

C. 3.6g

D. 

Answer: A

√4.8g

https://dl.doubtnut.com/l/_icjhRxY7fMP4
https://dl.doubtnut.com/l/_HpvPBWkRA2WF


Watch Video Solution

9. The hardness of water can be determined by

volumetrically using the reagent

A. sodium thio sulphate

B. potassium permanganate

C. hydrogen peroxide

D. EDTA

Answer: D

https://dl.doubtnut.com/l/_HpvPBWkRA2WF
https://dl.doubtnut.com/l/_RXCcUGhKi3pf


Watch Video Solution

10. The cause of permanent hardness of water

is due to

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Ca(HCO3)2

Mg(HCO3)2

CaCl2

MgCO3

https://dl.doubtnut.com/l/_RXCcUGhKi3pf
https://dl.doubtnut.com/l/_gmkCqqHkfPTC


11. Zeolite used to soften hardness of water is,

hydrated

A. Sodium aluminium silicate

B. Calcium aluminium silicate

C. Zinc aluminium borate

D. Lithium aluminium hydride

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_gmkCqqHkfPTC
https://dl.doubtnut.com/l/_Pe5zsQYeNN20


12. A commercial sample of hydrogen peroxide

marked as 100 volume , it means that.

A. 1 ml of  will give 100 ml  at STP

B. 1 L of  will give 100 ml  at STP

C. 1 L of  will give 22.4 L 

D. 1 ml of  will give 1 mole of  at

STP

Answer: A

Watch Video Solution

H2O2

H2O O2

H2O O2

H2O O2

H2O2 O2

https://dl.doubtnut.com/l/_sgnb0YtMtQqc


13. When hydrogen peroxide is shaken with an

acidified solution of potassium dichromate in

presence of ether, the ethereal layer turns

blue due to the formation of

A. 

B. 

C. 

D. none of these

Answer: C

Cr2O3

CrO
2 −
4

CrO(O2)2

https://dl.doubtnut.com/l/_sgnb0YtMtQqc
https://dl.doubtnut.com/l/_pNbyryGWMV7g


Watch Video Solution

14. For decolourisation of 1 molle of acidified

 the moles of  required is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

KMnO4 H2O2

1

2

3

2

5

2

7

2

https://dl.doubtnut.com/l/_pNbyryGWMV7g
https://dl.doubtnut.com/l/_qqfh8XzeFhQa


15. Volume strength of 1.5 N  is

A. 1.5

B. 4.5

C. 16.8

D. 8.4

Answer: D

Watch Video Solution

H2O2

https://dl.doubtnut.com/l/_qqfh8XzeFhQa
https://dl.doubtnut.com/l/_7dre4lPmNhvp
https://dl.doubtnut.com/l/_6HK0WjJVyZUh


16. The hybridisation of oxygen atom is 

and  are, respectively

A. sp and `sp^3

B. `sp and sp

C. sp and 

D.  and 

Answer: D

Watch Video Solution

H2O

H2O2

sp2

sp3 sp3

https://dl.doubtnut.com/l/_6HK0WjJVyZUh


17. The reaction

indicates that hypo-phosphorus acid is

A. tribasic acid

B. dibasic acid

C. mono basic acid

D. none of these

Answer: C

Watch Video Solution

H3PO2 + D2O → H2DPO2 + HDO

https://dl.doubtnut.com/l/_jsq039DSRljD


18. In solid ice, oxygen atom is surrounded

A. tetrahedrally by 4 hydrogen atoms

B. octahedrally by 2 oxygen and 4

hydrogen atoms

C. tetrahedrally by 2 hydrogen and 2

oxygen atoms

D. octahedrally by 6 hydrogen atoms

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_3XS9TDSAE02Q


19. The type of H-bonding present in ortho

nitro phenol and p-nitro phenol are

respectively

A. inter molecular H-bonding and intra

molecular H-bonding

B. intra molecular H-bonding and inter

molecular H-bonding

C. intra molecular H - bonding and no H -

bonding

https://dl.doubtnut.com/l/_3XS9TDSAE02Q
https://dl.doubtnut.com/l/_hpB8cAX9Jw0h


D. intra molecular H - bonding and intra

molecular H - bonding

Answer: B

Watch Video Solution

20. Heavy water is used as

A. moderator in nuclear reactions

B. coolant in nuclear reactions

C. both (a) and (b)

https://dl.doubtnut.com/l/_hpB8cAX9Jw0h
https://dl.doubtnut.com/l/_sl22Xqcih1jV


D. none of these

Answer: C

Watch Video Solution

21. Water is a

A. basic oxide

B. acidic oxide

C. amphoteric acid

D. none of these

https://dl.doubtnut.com/l/_sl22Xqcih1jV
https://dl.doubtnut.com/l/_9mybbFFCRo1h


Write Brief Answer To The Following Questions

Answer: C

Watch Video Solution

1. Explain why hydrogen is not placed with the

halogen in the periodic table.

Watch Video Solution

https://dl.doubtnut.com/l/_9mybbFFCRo1h
https://dl.doubtnut.com/l/_SixKaHs2Q8hV


2. Discuss the three types of Covalent hydrides

Watch Video Solution

3. Predict which of the following hydrides is a

gas on a solid (a) HCI (b) NaH. Give your

reason.

Watch Video Solution

https://dl.doubtnut.com/l/_Mre5WEokUuoM
https://dl.doubtnut.com/l/_dRfwzzrvadXW


4. Write the expected formulas for the

hydrides of  period elements.What is the

trend in the formulas? In what way the first

two numbers of the series different from the

others ?

Watch Video Solution

4th

5. Write chemical equation for the following

reactions.

https://dl.doubtnut.com/l/_2AXrnqNFdRcG
https://dl.doubtnut.com/l/_HJpOIgtkhh7O


Reaction of hydrogen with tungsten (VI) oxide

on heating.

Watch Video Solution

6. Write chemical equation for the following

reactions.

Hydrogen gas and chlorine gas.

Watch Video Solution

https://dl.doubtnut.com/l/_HJpOIgtkhh7O
https://dl.doubtnut.com/l/_4DjcqtvlRjQJ


7. Complete the following chemical reactions

and classify them in to (a) hydrolysis (b) redox 

(c ) hydration reactions. 

Watch Video Solution

CaO + H2O →

8. Complete the following chemical reactions

and classify them in to (a) hydrolysis (b) redox 

(c ) hydration reactions. 

CrCl3 + H2O →

https://dl.doubtnut.com/l/_HChoX4dAzN8s
https://dl.doubtnut.com/l/_q3Hn3NI4oZwz


Watch Video Solution

9. Complete the following chemical reactions

and classify them in to (a) hydrolysis (b) redox 

(c ) hydration reactions. 

Watch Video Solution

CaO + H2O →

10. Hydrogen peroxide can function as an

oxidising agent as well as reducing agent.

https://dl.doubtnut.com/l/_q3Hn3NI4oZwz
https://dl.doubtnut.com/l/_BVkKPuh0Am0B
https://dl.doubtnut.com/l/_elBae6VjtvRY


substantiate this statement with suitable

examples.

View Text Solution

11. Do you think that heavy water can be used

for drinking purposes ?

View Text Solution

12. What is water-gas shift reaction?

View Text Solution

https://dl.doubtnut.com/l/_elBae6VjtvRY
https://dl.doubtnut.com/l/_3VB8YLO7g0UA
https://dl.doubtnut.com/l/_v38HED5FVut1


13. Justify the position of hydrogen in the

periodic table?

Watch Video Solution

14. What are isotopes? Write the names of

isotopes of hydrogen.

Watch Video Solution

https://dl.doubtnut.com/l/_v38HED5FVut1
https://dl.doubtnut.com/l/_axnWy5TOfMRJ
https://dl.doubtnut.com/l/_V6SDmlh9mL64


15. Mention the uses of heavy water .

Watch Video Solution

16. Explain the exchange reactions of

deuterium

Watch Video Solution

17. How do you convert para hydrogen into

ortho hydrogen ?

https://dl.doubtnut.com/l/_ob6JFBOkBr4B
https://dl.doubtnut.com/l/_ri6klH1sk9YG
https://dl.doubtnut.com/l/_25GnVngvtz0o


Watch Video Solution

18. Mention the uses of deuterium.

Watch Video Solution

19. Explain preparation of hydrogen using

electrolysis.

Watch Video Solution

https://dl.doubtnut.com/l/_25GnVngvtz0o
https://dl.doubtnut.com/l/_2CCfoBqdzRnq
https://dl.doubtnut.com/l/_2VbjOfMbxoBF


20. A groups metal (A) which is present in

common salt reacts with (B) to give compound

in which hydrogen is present in -1 oxidation

state. (B) on reaction with a gas (C) to i

universal solvent (D). The compound (D) on

reacts with (A) to give (E), a strong base

Identify A, B, C, D and E. Explain the reactions.

Watch Video Solution

https://dl.doubtnut.com/l/_GPfj5BoCaX1N


21.  has exceptionally high melting point

and boiling point as compared to those of the

hydrides of the remaining element of group

15. Explain.

Watch Video Solution

NH3

22. Why interstitial hydrides have a lower

density than the parent metal.

Watch Video Solution

https://dl.doubtnut.com/l/_AuhI92ZwFovC
https://dl.doubtnut.com/l/_JUCNma5tE6wx
https://dl.doubtnut.com/l/_BK4st6gCfqok


23. Compare the structures of  and 

Watch Video Solution

H2O H2O2

24. How do you expect the metallic hydrides to

be useful for hydrogen storage?

Watch Video Solution

25. Arrange  and HF in the order of

increasing magnitude of hydrogen bonding

NH3, H2O

https://dl.doubtnut.com/l/_BK4st6gCfqok
https://dl.doubtnut.com/l/_OHGD3sGyN78Q
https://dl.doubtnut.com/l/_5IhAexJbdItl


Additional Question Additional Choose The

Correct Answer

and explain the basis for your arrangement.

Watch Video Solution

1. Ionic hydrides are formed by

A. halogen

B. chalcogens

C. alkalimetals

https://dl.doubtnut.com/l/_5IhAexJbdItl
https://dl.doubtnut.com/l/_okvEZLLpXhmF


D. inert gases

Answer: C

Watch Video Solution

2. Volume stength of  is

A. 2.8

B. 8.4

C. 5.6

D. 16.8

0.5N, H2O2

https://dl.doubtnut.com/l/_okvEZLLpXhmF
https://dl.doubtnut.com/l/_6mPHBXTmYLQA


Answer: A

Watch Video Solution

3. The most abund ant element in the universe

is __________

A. aluminium

B. mica dihydrogen

C. nitrogen

D. deuterium

https://dl.doubtnut.com/l/_6mPHBXTmYLQA
https://dl.doubtnut.com/l/_LIcCiWma4VvH


Answer: C

Watch Video Solution

4. The number of neutrons is hydrogen atom

is ___________

A. three

B. two

C. one

D. zero

https://dl.doubtnut.com/l/_LIcCiWma4VvH
https://dl.doubtnut.com/l/_JohPeb7z8ACP


Answer: D

Watch Video Solution

5. ___________ is known as heavy hydrogen.

A. protium

B. deuterium

C. tritium

D. both a and b

Answer: B

https://dl.doubtnut.com/l/_JohPeb7z8ACP
https://dl.doubtnut.com/l/_cE25HqQjMwux


Watch Video Solution

6. The radio acti ve isotope used in

illumination of wrist watches instead of

radium is_______________

A. 

B. 

C. 

D. 

Answer: A

.1 T 3

.1 D2

.10 Ne21

.2 He3

https://dl.doubtnut.com/l/_cE25HqQjMwux
https://dl.doubtnut.com/l/_KGt5qBGlPb1z


Watch Video Solution

7. Deuterium consists of ______________

A. one electron, two proton, three neutron

B. one electron, one proton, one neutron

C. two electron, one proton, one neutron

D. three electron, two proton, one neutron

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_KGt5qBGlPb1z
https://dl.doubtnut.com/l/_9lORZ0y2Cddo


8. The radioactive isotope of hydrogen is

____________

A. protium

B. deuterium

C. tritium

D. nascent hydrogen

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_9lORZ0y2Cddo
https://dl.doubtnut.com/l/_xoxETyHpxx9O
https://dl.doubtnut.com/l/_w9aRgbVZ6jxL


9. The half life period of tritium is _________

A. 12.33 secs

B. 12.33 mins

C. 12.33 hrs

D. 12.33 years

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_w9aRgbVZ6jxL


10. Ammonia is manufactured by ____ process.

A. Contact

B. Bergius

C. Haber's

D. none of the above

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_TgZ0Luz4ljcy


11. __________ torches is / are used in cutting

and welding of a steel.

A. Oxy acetylene

B. Oxy hydrogen

C. both a and b

D. neither a nor b

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_66uKhXpwFsTo
https://dl.doubtnut.com/l/_yS21Csg0iIqE


12. Hydrogen is used in ___________

A. Hydrogenation of oils

B. fuel cells

C. gas bags for air ships

D. all of the above

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_yS21Csg0iIqE


13. Which among the following statement/s

given below is/ are incorrect regarding

hydrogen? 

1) It is diatomic in nature. 

2) Has only one electron in the outermost

shell 

3) Very good oxidizing agent 

4) Does not form hydrides easily

A. 1,2,& 3

B. only 4

C. only 3

https://dl.doubtnut.com/l/_CptH7epmTLmw


D. only 2

Answer: C

Watch Video Solution

14. The conversion of atomic hydrogen to

dihydrogen is a ______________ change.

A. endothermic

B. exothermic

C. photochemical

https://dl.doubtnut.com/l/_CptH7epmTLmw
https://dl.doubtnut.com/l/_9R9K6i2dIBkP


D. nuclear

Answer: B

Watch Video Solution

15. 

'X' is _________

A. Nickel

B. Iron

C. Iron oxide

CO ( g ) + H2O ( g )

400C
−−→

X
CO2 ( g ) + H2 ( g )

https://dl.doubtnut.com/l/_9R9K6i2dIBkP
https://dl.doubtnut.com/l/_iaKleLiBtsls


D. Vanadium penta oxide

Answer: C

Watch Video Solution

16. Hydrogen bomb is based on the principle

of ___________

A. fission

B. fusion

C. both a and b

https://dl.doubtnut.com/l/_iaKleLiBtsls
https://dl.doubtnut.com/l/_E1GcR9tGI2ed


D. neither a nor b

Answer: C

Watch Video Solution

17. Hydrogen can be obtained from water by

reaction with

A. metal oxides

B. non metal oxides

C. metals

https://dl.doubtnut.com/l/_E1GcR9tGI2ed
https://dl.doubtnut.com/l/_y7jeQwxkI9Qa


D. metal hydrides

Answer: C

Watch Video Solution

18. Hydrogen burns in air with a

___________flame.

A. light bluish

B. yellow

C. green

https://dl.doubtnut.com/l/_y7jeQwxkI9Qa
https://dl.doubtnut.com/l/_EklYZObpRnZA


D. none of these

Answer: B

Watch Video Solution

19. Which pair are not hydrogen isotopes?

A. Ortho and para hydrogen

B. Protium and deuterium

C. Deuterium and tritium

D. Tritium and protium

https://dl.doubtnut.com/l/_EklYZObpRnZA
https://dl.doubtnut.com/l/_dJwrAJLAorzw


Answer: A

Watch Video Solution

20. Ortho and para hydrogen differ in

A. proton spin

B. electron spin

C. nuclear charge

D. both b and c

Answer: A

https://dl.doubtnut.com/l/_dJwrAJLAorzw
https://dl.doubtnut.com/l/_zyIiodbPZy7Q


Watch Video Solution

21. ____________ is considered as the potential

alternative fuel of the future.

A. hydrogen

B. gasoline

C. biodiesel

D. propane

Answer: A

https://dl.doubtnut.com/l/_zyIiodbPZy7Q
https://dl.doubtnut.com/l/_BWQRTZyjbsZB


Watch Video Solution

22. The ionisation energy of hydrogen is

higher than alkali metals. Pick out the correct

reason for the above statement.

A. Because of smaller size of H.

B. Presence of  in outermost shell.

C. Presence of one proton in its nucleus.

D. Absence of neutrons.

Answer: A

≤−

https://dl.doubtnut.com/l/_BWQRTZyjbsZB
https://dl.doubtnut.com/l/_MEBNtVXj4yZR


Watch Video Solution

23. Hydogen accepts an electron to attain the

inert gas configuration. In this way it

resembles __________

A. chalcogens

B. halogens

C. transition metals

D. alkali metals

Answer: B

https://dl.doubtnut.com/l/_MEBNtVXj4yZR
https://dl.doubtnut.com/l/_klxzFHVMWIwb


Watch Video Solution

24. Hydrogen acts as a reducing agent and

thus resembles

A. halogens

B. chalogens

C. inert gases

D. alkali metals

Answer: D

https://dl.doubtnut.com/l/_klxzFHVMWIwb
https://dl.doubtnut.com/l/_GsjKAT1rXiov


Watch Video Solution

25.  contains___________ molecules of

water of hydration.

A. 5

B. 7

C. 10

D. 12

Answer: B

Watch Video Solution

FeSO4

https://dl.doubtnut.com/l/_GsjKAT1rXiov
https://dl.doubtnut.com/l/_Gyr8FVRDY2Ta


26. Which among of the following reaction

produces hydrogen ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Na2O2 + HCl

BaO2 + HCl

K2S2O8 + H2O

Zn + HCl

https://dl.doubtnut.com/l/_Gyr8FVRDY2Ta
https://dl.doubtnut.com/l/_ty8T77UPNRkW


27. In which of the following compounds does

hydrogen has an oxidation state of -1?

A. 

B. 

C. HCl

D. 

Answer: D

Watch Video Solution

CH4

NH3

CaH2

https://dl.doubtnut.com/l/_lBWwA8SqeR1i
https://dl.doubtnut.com/l/_277IbK8mWCFC


28. Assertion : Hydrogen is the simplest atom 

Reason : Its nucleus contains only two protons

A. Both assertion and reason are true and

reason is the correct explanation of

assertion.

B. Both assertion and reason are true but

reason is not the correct explanation of

assertion.

C. Assertion is true but reason is false

D. Both Assertion and reason are false

https://dl.doubtnut.com/l/_277IbK8mWCFC


Answer: C

Watch Video Solution

29. Assertion :  ion has a very low

polarising power. 

Reason : Size of  ion is very large

A. Both assertion and reason are true and

reason is the correct explanation of

assertion.

H +

H +

https://dl.doubtnut.com/l/_277IbK8mWCFC
https://dl.doubtnut.com/l/_IE5BLnnED0c8


B. Both assertion and reason are true but

reason is not the correct explanation of

assertion.

C. Assertion is true but reason is false

D. Both Assertion and reason are false

Answer: D

View Text Solution

https://dl.doubtnut.com/l/_IE5BLnnED0c8


30. Assertion : Hydrogen resembles halogens. 

Reason : It has high ionisation energy but still

form  ion.

A. Both assertion and reason are true and

reason is the correct explanation of

assertion.

B. Both assertion and reason are true but

reason is not the correct explanation of

assertion.

C. Assertion is true but reason is false

H +

https://dl.doubtnut.com/l/_W3ee55atphW4


D. Both Assertion and reason are false

Answer: B

Watch Video Solution

31. Which properties of hydrogen are

responsible for moderation of the climate and

body temperature of living beings?

A. High heat of vapourisation

B. High heat capacity

https://dl.doubtnut.com/l/_W3ee55atphW4
https://dl.doubtnut.com/l/_4n4a0SPagcc4


C. both (a) and (b)

D. None of these

Answer: C

Watch Video Solution

32. Consider the following statements 

1) Water has high dielectric constant. 

2) Water has strong intra molecular hydrogen

bonding 

3) Water is an Universal solvent which of the

https://dl.doubtnut.com/l/_4n4a0SPagcc4
https://dl.doubtnut.com/l/_IsQonBx92jUE


following statement (s) given above is/are not

correct

A. 1 & 3

B. only 1

C. 2 & 3

D. only 2

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_IsQonBx92jUE


33. consider the following statements 

1) Hard water forms scum with soap. 

2) Hard water lathers easily with soap 

3) Hard water is unsuitable for laundry and

boilers which of the following statement (s)

given above is/are correct ?

A. 1 & 2

B. only 1

C. 1 & 3

D. only 2

https://dl.doubtnut.com/l/_z6QtLmVG8kvo


Answer: A

Watch Video Solution

34. Hardness of water is due to ___________ of

calcium and magnesium

A. bicarbonates

B. sulphates

C. chloride

D. all the above

https://dl.doubtnut.com/l/_z6QtLmVG8kvo
https://dl.doubtnut.com/l/_XMT9E6gMfW8O


Answer: D

Watch Video Solution

35. Which of the following compounds is used

for water softening ?

A. 

B. 

C. 

D. 

Ca3(PO4)2

Na3PO4

NaAlSiO4

Na2HPO4

https://dl.doubtnut.com/l/_XMT9E6gMfW8O
https://dl.doubtnut.com/l/_b89sFLSSFaMU


Answer: C

View Text Solution

36. The structure of water molecule is

____________

A. bent

B. tetrahedral

C. distorted octahedral

D. trigonal bi pyramidal

https://dl.doubtnut.com/l/_b89sFLSSFaMU
https://dl.doubtnut.com/l/_JKbz2xeJwm8p


Answer: A

Watch Video Solution

37. __________ is extensively used as a moderator

in nuclear reactors.

A. 

B. 

C. 

D. 

H2O

H2O2

D2O

D2O2

https://dl.doubtnut.com/l/_JKbz2xeJwm8p
https://dl.doubtnut.com/l/_ssExCsBXdHkI


Answer: C

Watch Video Solution

38. The H-O-H angle in water molecules is

about

A. 

B. 

C. 28'

D. 

90∘

104.5∘

109∘

180∘

https://dl.doubtnut.com/l/_ssExCsBXdHkI
https://dl.doubtnut.com/l/_ittnC3gWHPst


Answer: B

Watch Video Solution

39. Hardness of water cannot be removed by

A. Treatment with washing soda

B. adding calgon

C. boiling

D. addition of chlorine

Answer: D

https://dl.doubtnut.com/l/_ittnC3gWHPst
https://dl.doubtnut.com/l/_yz6CqnVlrWfJ


Watch Video Solution

40. The chemical that is added to water in

order to remove temporary hardness is

__________

A. 

B. 

C. HCl

D. 

Answer: A

Ca(OH)2

CaCO3

CaSO4

https://dl.doubtnut.com/l/_yz6CqnVlrWfJ
https://dl.doubtnut.com/l/_Scno1NEUEbKj


Watch Video Solution

41. Name the anions responsible for

permanent hardness of water

A. sulphite

B. chloride

C. nitrate

D. both (a) and (b)

Answer: B

https://dl.doubtnut.com/l/_Scno1NEUEbKj
https://dl.doubtnut.com/l/_pIw3f6aCAvce


Watch Video Solution

42. Presence of which cation makes the water

hard in nature?

A. Ca & Mg

B. Na & Mg

C. Ca & Na

D. Mg & F

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_pIw3f6aCAvce
https://dl.doubtnut.com/l/_jAMmy8PTDt7L


43. Heavy water is ____________

A. De-mineralilzed water

B. De-ionized water

C. ordinary water containing dissolved

salts of heavy metals.

D. The compound of heavier isotope of

hydrogen with oxygen.

Answer: D

https://dl.doubtnut.com/l/_jAMmy8PTDt7L
https://dl.doubtnut.com/l/_Xio1xZImEZNM


Watch Video Solution

44. The velocity of neutrons in nuclear reactor

is slowed down by

A. 

B. 

C. Zinc rods

D. Copper rods

Answer: B

Watch Video Solution

H2O

D2O

https://dl.doubtnut.com/l/_Xio1xZImEZNM
https://dl.doubtnut.com/l/_OneDl3DijPc7


45. The maximum density of water is observed

at ___________

A. C

B. C

C. C

D. C

Answer: B

View Text Solution

0∘

4∘

11.6∘

273∘

https://dl.doubtnut.com/l/_OneDl3DijPc7
https://dl.doubtnut.com/l/_9EATLxZ0Yqvb


46. Assertion : Alcohols and carbohydrates are

soluble in water 

Reason : Water is non-polar solvent.

A. Both assertion and reason are true and

reason is the correct explanation of

assertion.

B. Both assertion and reason are true but

reason is not the correct explanation of

assertion.

C. Assertion is true but reason is false

https://dl.doubtnut.com/l/_nAhN8rDwy83O


D. Both Assertion and reason are false

Answer: B

Watch Video Solution

47. Hydrogne peroxide was discovered by

____________

A. Chadwick

B. J.J Thomson

C. Urey

https://dl.doubtnut.com/l/_nAhN8rDwy83O
https://dl.doubtnut.com/l/_1yt32Bkj3YhS


D. J.L. Thenard

Answer: D

Watch Video Solution

48. Metal hydrides are ionic, covalent or

molecular in nature. Among LiH, NaH, KH, RBH,

CSH, the correct order of increasing ionic

character is ......

A. LiHgtNaHgtCsHgtKHgtRbH

https://dl.doubtnut.com/l/_1yt32Bkj3YhS
https://dl.doubtnut.com/l/_D3rtcLkTynR7


B. LiHltNaHltKHltRbHltCsH

C. RbHgtCsHgtNaHgtKHgtLiH

D. NaHgtCsHgtRbHgtLiHgtKH

Answer: B

Watch Video Solution

49.  acts a ____________ agent.

A. oxidizing

B. reducing

H2O2

https://dl.doubtnut.com/l/_D3rtcLkTynR7
https://dl.doubtnut.com/l/_0vsJXxM9mdFs


C. both reducing and oxidizing

D. neither reducing nor oxidizing

Answer: C

Watch Video Solution

50.  is a ____________ acid.

A. mono basic

B. di basic

C. tri basic

H2O2

https://dl.doubtnut.com/l/_0vsJXxM9mdFs
https://dl.doubtnut.com/l/_XXY2jSRACBlI


D. none

Answer: B

Watch Video Solution

51. LiH is an example of _______________ hydride.

A. ionic

B. saline

C. covalent

D. both a and b

https://dl.doubtnut.com/l/_XXY2jSRACBlI
https://dl.doubtnut.com/l/_XOBr7kPHCWqO


Answer: D

Watch Video Solution

52. A examples of covalent hydride is

____________

A. 

B. 

C. TiH

D. all the above

CaH2

CH4

https://dl.doubtnut.com/l/_XOBr7kPHCWqO
https://dl.doubtnut.com/l/_mfSatvZ45BAU


Answer: B

Watch Video Solution

53. ___________ is an example of intra molecular

hydrogen bonding.

A. salicylaldehyde

B. hydrogen fluoride

C. para nitro phenol

D. both a and c

https://dl.doubtnut.com/l/_mfSatvZ45BAU
https://dl.doubtnut.com/l/_ZRXrVqRqyV9b


Answer: A

Watch Video Solution

54. HF has ___________ hydrogen bond.

A. intramolecular

B. intermolecular

C. intrastellar

D. interstellar

Answer: B

https://dl.doubtnut.com/l/_ZRXrVqRqyV9b
https://dl.doubtnut.com/l/_R6EutpsQLhk7


Watch Video Solution

55. Acetic acid exist as a __________

A. monomer

B. dimer

C. trimer

D. octamer

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_R6EutpsQLhk7
https://dl.doubtnut.com/l/_YRdubVtA2xEj


56. What is the dihedral angle of  in gas

and solid phase ?

A.  and 

B.  and 

C.  and 

D.  and 

Answer: A

Watch Video Solution

H2O2

111.5∘ 90.2∘

115.1∘ 92∘

92∘ 115.1∘

90.2∘ 111.5∘

https://dl.doubtnut.com/l/_YRdubVtA2xEj
https://dl.doubtnut.com/l/_BuvHxUY7qbdI
https://dl.doubtnut.com/l/_Ftre69gqhvdV


57.  acts as

A. oxidising agent

B. reducing agent

C. bleaching agent

D. all of these

Answer: D

Watch Video Solution

H2O2

https://dl.doubtnut.com/l/_Ftre69gqhvdV


58. The reaction 

represents,

A. Oxidising of 

B. reducing of 

C. dispropornation of oxygen

D. acidic nature of 

Answer: C

Watch Video Solution

H2O2 → H2O + O2

H2O2

H2O

H2O2

https://dl.doubtnut.com/l/_4bVzSjhKu5hj
https://dl.doubtnut.com/l/_X9tPU16Mhyru


59.  and  resemble in

A. Bond angle

B. Hybridization of oxygen

C. structure

D. Oxidation state of oxygen

Answer: B

Watch Video Solution

H2O H2O2

https://dl.doubtnut.com/l/_X9tPU16Mhyru


60. Statement I : The O-O bond length in 

is shorter than that of  


Statement II :  is an ionic compound.

A. Both statement I and II are true but

statement II explains statement I

B. Both statement I and II are true but

statement II does not explains

statement I

C. Statement I is true but statement II is

false.

H2O2

O2F2

H2O2

https://dl.doubtnut.com/l/_7vXmiRI4Xftf


D. Both the statements are false.

Answer: D

Watch Video Solution

61. Ionic hydrides are usallly

A. Good conductors of electicity in solid

state

B. volatile

C. non-crystalline

https://dl.doubtnut.com/l/_7vXmiRI4Xftf
https://dl.doubtnut.com/l/_4SYyXvRxAPFd


D. stoichiometic compounds

Answer: D

View Text Solution

62. Intermolecular H-bonding is present in

___________

A. HF

B. 

C. 

H2O

C2H5OH

https://dl.doubtnut.com/l/_4SYyXvRxAPFd
https://dl.doubtnut.com/l/_vOVaHp5X3Y2e


D. All of these

Answer: D

Watch Video Solution

63. Which one of the following bond is

stronger ?

A. Covalent

B. H-bond

C. Vanderwaal's force

https://dl.doubtnut.com/l/_vOVaHp5X3Y2e
https://dl.doubtnut.com/l/_yhdgH8EZX8tx


D. All of these

Answer: A

Watch Video Solution

64. The intramolecular hydrogen bonding in

molecules lead to ________

A. high melting point

B. low boiling point

C. high boiling point

https://dl.doubtnut.com/l/_yhdgH8EZX8tx
https://dl.doubtnut.com/l/_IXI8LzeWfVIp


D. high solubility in water

Answer: B

View Text Solution

65. Assertion : Industrial method of

preparation of  involves 2-ethylanthara

quinol. 

Reason : The process is cyclic.

H2O2

https://dl.doubtnut.com/l/_IXI8LzeWfVIp
https://dl.doubtnut.com/l/_Bx6mpcsmxdpv


A. Both assertion and reason are true and

reason is the correct explanation of

assertion.

B. Both assertion and reason are true but

reason is not the correct explanation of

assertion.

C. Assertion is true but reason is false

D. Both Assertion and reason are false

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_Bx6mpcsmxdpv


66. Intramolecular H-bonding is present

in___________

A. o-nitrophenol

B. salicylic acid

C. salicylaldlehyde

D. all of these

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_Bx6mpcsmxdpv
https://dl.doubtnut.com/l/_x4gyg5TvwuFJ


67. Which of the following is incorrect?

A. Hydrogen forms unipositive ion like

alkali metals

B. Hydrogen forms halides, oxides

peroxides and sulphides like alkali

metals

C. Hydrogen also acts as a reducing agent

D. Hydrogen has ionization energy ranging

of alkali metals.

https://dl.doubtnut.com/l/_Risc823P2S6a


Answer: D

View Text Solution

68. Which is the only isotope that does not

contain a neutron?

A. Protium

B. Dutrium

C. Tritium

D. Chlorin-35

https://dl.doubtnut.com/l/_Risc823P2S6a
https://dl.doubtnut.com/l/_NJyjMFpKm3Hf


Answer: A

Watch Video Solution

69. The equilibrium shifts in favour of para

hydrogen when the temperature is

A. highered

B. lowered

C. increased

D. a & c

https://dl.doubtnut.com/l/_NJyjMFpKm3Hf
https://dl.doubtnut.com/l/_MQM4Xsoc17ua


Answer: B

View Text Solution

70. Ortho hydrogen has magnetic

moment___________ that of a proton.

A. twice

B. three times

C. four times

D. six times

https://dl.doubtnut.com/l/_MQM4Xsoc17ua
https://dl.doubtnut.com/l/_EXHWlMOOVSSy


Answer: A

View Text Solution

71. Which explosive reaction is used in fuel

cells to generate electricity?

A. Reaction of hydrogen with carbon

B. Reaction of hydrogen with oxygen

C. Reactoin of carbon with oxygen

D. Reactoin of carbon with nitrogen

https://dl.doubtnut.com/l/_EXHWlMOOVSSy
https://dl.doubtnut.com/l/_Muu6cx40ekoQ


Answer: B

View Text Solution

72. What is responsible for the high melting

and boiling points of water?

A. Hydrogen bonding

B. Strong forces

C. High reactivity

D. b & c

https://dl.doubtnut.com/l/_Muu6cx40ekoQ
https://dl.doubtnut.com/l/_BlGRr6zv89D7


Answer: A

View Text Solution

73. In another way to soften the hard water is

by using a process called ___________

A. Ion-exchange

B. Osmosis

C. Reverse Osmosis

D. Ionic Pressure

https://dl.doubtnut.com/l/_BlGRr6zv89D7
https://dl.doubtnut.com/l/_dGn6Jtf5DMSP


Answer: A

View Text Solution

74. The exchange reactions are useful in

determining the number of ____ present in a

given compound

A. Hyrogen atoms

B. Ionic hydrogens

C. Oxygen atoms

D. Ionic oxygens

https://dl.doubtnut.com/l/_dGn6Jtf5DMSP
https://dl.doubtnut.com/l/_yZmfg3HP8Xxb


Answer: B

View Text Solution

75. On an industrial scale, hydrogen peroxide

is prepared exclusive by autoxidation of

_____________

A. 2-alkylanthraquinol

B. 2-quinol

C. 2-anthra quinol

D. 2-alkyl quinol

https://dl.doubtnut.com/l/_yZmfg3HP8Xxb
https://dl.doubtnut.com/l/_gJViVbU0GfZq


Answer: A

View Text Solution

76. ____________ density of ice compared with

water at 

A. higher

B. lower

C. retained

D. more

0∘ C

https://dl.doubtnut.com/l/_gJViVbU0GfZq
https://dl.doubtnut.com/l/_1Aql1NX7h11q


Additional Short Answer

Answer: B

View Text Solution

1. What is meant by intramolecular hydrogen

bond? Give one example

Watch Video Solution

https://dl.doubtnut.com/l/_1Aql1NX7h11q
https://dl.doubtnut.com/l/_eoo4f5jR3Kw1


2. Name the isotopes of hydrogen.

Watch Video Solution

3. What is ortho hydrogen?

Watch Video Solution

4. What is para hydrogen?

Watch Video Solution

https://dl.doubtnut.com/l/_mp7lNssvWdDl
https://dl.doubtnut.com/l/_YLZdJEaU5A9V
https://dl.doubtnut.com/l/_7WymxM0bMoKF


5. How does iron react with steam ?

Watch Video Solution

6. Write short notes on Deuterium

Watch Video Solution

7. Which is the radio active isotope of

Hydrogen? Write a note on it.

Watch Video Solution

https://dl.doubtnut.com/l/_YeBbphxtDKtr
https://dl.doubtnut.com/l/_7Mh9Bf0cKlMb
https://dl.doubtnut.com/l/_vfg34tCAfARS


8. Give two uses of Tritium.

Watch Video Solution

9. Explain the large scale production of

Hydrogen.

Watch Video Solution

10. Write a note on Haber's process.

https://dl.doubtnut.com/l/_vfg34tCAfARS
https://dl.doubtnut.com/l/_6Y0dln31lovq
https://dl.doubtnut.com/l/_evhSWMd5DAiT
https://dl.doubtnut.com/l/_OAu7h3zITocW


Watch Video Solution

11. What is hydrogenation? What is its

industrial application?

Watch Video Solution

12. Complete the following reactions and

balance them: 

Watch Video Solution

CO ( g ) + H2 ( g ) →

https://dl.doubtnut.com/l/_OAu7h3zITocW
https://dl.doubtnut.com/l/_fL8ffpxq2gC4
https://dl.doubtnut.com/l/_GP4bJhIWR37L


13. Complete the following reactions and

balance them: 

Watch Video Solution

CH4 ( g )

1270k
−−→

Ni

14. How is deuterium prepared from heavy

water ?

Watch Video Solution

https://dl.doubtnut.com/l/_GP4bJhIWR37L
https://dl.doubtnut.com/l/_7EO3zcjC2dDd
https://dl.doubtnut.com/l/_2SjbXScQHAbj
https://dl.doubtnut.com/l/_eUpGt5PltYYy


15. Give one example of a reaction in which

dihydrogen acts as: 

an oxidising agent

Watch Video Solution

16. Give one example of a reaction in which

dihydrogen acts as: 

a reducing agent

Watch Video Solution

https://dl.doubtnut.com/l/_eUpGt5PltYYy
https://dl.doubtnut.com/l/_9P1JXggqIQJY


17. Explain the laboratory preparation of

dihydrogen.

Watch Video Solution

18. At room temperature, Hydrogen reacts very

Slowly. Explain (HOTS)

Watch Video Solution

https://dl.doubtnut.com/l/_d1DSFPHcxUOP
https://dl.doubtnut.com/l/_jXLwRxNHuglI


19. Expl ain the consequences of high enthalpy

of H-H bond in terms of chemical reactivity of

dihydrogen.

View Text Solution

20. Calcium Hydroxide cannot be used to

remove permanent hardness of water why?

Watch Video Solution

https://dl.doubtnut.com/l/_DugedWGBwZPT
https://dl.doubtnut.com/l/_eoUm2E5zXQXt


21. How will you classify water based on the

spin of the nuclei of the hydrogen atoms ?

Watch Video Solution

22. Explain the reaction of water with metals

of Group I.

Watch Video Solution

https://dl.doubtnut.com/l/_Qq2Eb0jL9b6n
https://dl.doubtnut.com/l/_vwCu8eFIhxkD


23. Explain the reaction of water with

halogens.

Watch Video Solution

24. What is Heavy water ?

Watch Video Solution

25. What is Zeolite ?

Watch Video Solution

https://dl.doubtnut.com/l/_ymnm0f0VxQ9X
https://dl.doubtnut.com/l/_lfAcR397l0gH
https://dl.doubtnut.com/l/_PPTleio09qud


26. Water is an amphoteric oxide. Justify this

statement.

Watch Video Solution

27. What causes hardness in water ?

Watch Video Solution

28. Ice floats on water. Give reason

https://dl.doubtnut.com/l/_PPTleio09qud
https://dl.doubtnut.com/l/_BqvfP1w8RBAn
https://dl.doubtnut.com/l/_8tsQ7MKhbDCi
https://dl.doubtnut.com/l/_MOPEYIDFEXde


View Text Solution

29. Why is water molecule polar?

View Text Solution

30. What are the types of hydrogen bonding?

Give example.

Watch Video Solution

https://dl.doubtnut.com/l/_MOPEYIDFEXde
https://dl.doubtnut.com/l/_lcBFDvb97H9y
https://dl.doubtnut.com/l/_Twc0tFS5bMBm


31. Give any two methods of preparation of

.

Watch Video Solution

H2O2

32. Distinguish between 

hard water and soft water

Watch Video Solution

https://dl.doubtnut.com/l/_IN0c0w5KuhXu
https://dl.doubtnut.com/l/_40NEEZYsaOrK


33. Distinguish between 

Temporary hardness and permannent

hardness.

Watch Video Solution

34. What is meant by binary hydride? Give

example.

Watch Video Solution

https://dl.doubtnut.com/l/_Cr0XjbylIs7i
https://dl.doubtnut.com/l/_WAScqxjaTT1n


35. What is hydrogen bonding?

Watch Video Solution

36. List out the various types of hydrides

formed, when dihydrogen reacts with s-block,

p-block, d-block and f-block elements.

View Text Solution

https://dl.doubtnut.com/l/_Lp9APgs3K7g9
https://dl.doubtnut.com/l/_p12J482k0Ou0


37. Statues coated with white lead turn black

on exposure to air Its original colour is

restored on treatment with . Explain.

View Text Solution

H2O2

38. What are ternary hydrides? Give example?

Watch Video Solution

https://dl.doubtnut.com/l/_H3N90xsfIQ3R
https://dl.doubtnut.com/l/_u0epnQCOFPm1


39. Write short notes on Ionic Hydrides and

give suitable examples.

View Text Solution

40. Explain covalent hydrides. How are they

classified. Give examples.

Watch Video Solution

41. Write short notes on Metallic Hydrides.

https://dl.doubtnut.com/l/_WgdRnLEZ6itn
https://dl.doubtnut.com/l/_3VWsQ9RS4kNY
https://dl.doubtnut.com/l/_nEICfyr2RXRa


View Text Solution

42. Identify the following as covalent, ionic or

interstitial hydrides

View Text Solution

CaH2, LaH2, T iH2, NaH, GeH2, NH3

43. How do metallic hydrides differ from

molecular hydrides?

View Text Solution

https://dl.doubtnut.com/l/_nEICfyr2RXRa
https://dl.doubtnut.com/l/_seEwvHBkOV7t
https://dl.doubtnut.com/l/_ISOPiZdNbSYF


44. What do you mean by hydride gap ?

Watch Video Solution

45. Write down the possible applications of

 on the basis of its oxidising property.

View Text Solution

H2O2

https://dl.doubtnut.com/l/_ISOPiZdNbSYF
https://dl.doubtnut.com/l/_4m2r2y5lg97u
https://dl.doubtnut.com/l/_P5VNudCKRF9V


46. What is the nuclear reaction that take

place in the sun and other stars?

Watch Video Solution

47. Why hydrogen gas is used as fuel?

Watch Video Solution

48.  is always stored in plastic bottles ?

Why ?

H2O2

https://dl.doubtnut.com/l/_ZyVwoywdd6fC
https://dl.doubtnut.com/l/_5TYjQMS108z9
https://dl.doubtnut.com/l/_6Sbtd8C9pe57


Watch Video Solution

49. Why  is used as mild antiseptic?

Watch Video Solution

H2O2

50. Why metallic hydrides are called interstitial

hydrides? Give one example. 

Watch Video Solution

https://dl.doubtnut.com/l/_6Sbtd8C9pe57
https://dl.doubtnut.com/l/_dIJCmbJpk5DO
https://dl.doubtnut.com/l/_ZyjXFCOA9cuW


51. Write a note about gas hydrates.

Watch Video Solution

52. Give the advantage of future fuel-

hydrogen.

Watch Video Solution

53. How does  behave as bleaching

agent?

H2O2

https://dl.doubtnut.com/l/_j9LE2gX8lpz5
https://dl.doubtnut.com/l/_JlHvvq3kS9kE
https://dl.doubtnut.com/l/_ib60Zdv5YEAU


Watch Video Solution

54. Draw the structure of 

Acetic acid

Watch Video Solution

55. Draw the structure of 

Water

Watch Video Solution

https://dl.doubtnut.com/l/_ib60Zdv5YEAU
https://dl.doubtnut.com/l/_piiyHLe45g0x
https://dl.doubtnut.com/l/_ikWpPfrA9Avc
https://dl.doubtnut.com/l/_6jX5u6st1JAN


56. What do you understand by the term 'non

stoichiometric hydrides? Do you expect this

type f hydrides to be formed by alkali metals?

Justify your answer,

Watch Video Solution

57.  Explain the action of soap with hard water.

Watch Video Solution

https://dl.doubtnut.com/l/_6jX5u6st1JAN
https://dl.doubtnut.com/l/_u0misNXpK4FC


58. Write a note about saline (or) ionic

hydride.

Watch Video Solution

59. What are intra molecular hydrogen

bonding? Explain with an example.

Watch Video Solution

https://dl.doubtnut.com/l/_l8wbXYFmuHOh
https://dl.doubtnut.com/l/_cn0lEQWp1oAR


60.   What are Clathrate hydrate? Explain it

with suitable example.

Watch Video Solution

61.  What are intermolecular hydrogen bonds?

Explain with example.

Watch Video Solution

https://dl.doubtnut.com/l/_rqy31WA9sSID
https://dl.doubtnut.com/l/_40CTxvTYsRGi


62. What is the difference between the terms

'hydrolysis' and 'hydration'? .

Watch Video Solution

63. Why hydrogen behaves both as a halogen

and as an alkali metal ?

View Text Solution

https://dl.doubtnut.com/l/_wGtn8P40MmfQ
https://dl.doubtnut.com/l/_q3Z0sPd73xEc


64. Conc.  annot be used for drying

hydrogen gas. Why?

Watch Video Solution

H2SO4

65. Write a note on application of hydrogen in

cutting and welding purpose.

View Text Solution

https://dl.doubtnut.com/l/_VrE2E2GUB7KN
https://dl.doubtnut.com/l/_BLmOaSJsnxvn


66. Why does hydrogen occur in a diatomic

form rather than in a monoatomic form under

normal conditions?

Watch Video Solution

67. Describe the industrial applications of

hydrogen dependent on : a. the heat liberated

when its atoms are made to combine on the

surface of a metal. 

b. its effect on unsaturated organic system in

https://dl.doubtnut.com/l/_a0HVxQZRqlal
https://dl.doubtnut.com/l/_DlMolbPfk6sJ


presence of a catalyst. 

c. its ability to combine with nitrogen under

specific conditions.

Watch Video Solution

68. Illustrate the industrial applications of

hydrogen , depending on 

Its ability to combine with nitrogen under

specific conditions.

Watch Video Solution

https://dl.doubtnut.com/l/_DlMolbPfk6sJ
https://dl.doubtnut.com/l/_v3bhyfRO7MMM
https://dl.doubtnut.com/l/_JbzpSl6NA67h


69. Illustrate the industrial applications of

hydrogen , depending on 

Its ability to combine with nitrogen under

specific conditions.

Watch Video Solution

70. List out the uses of hydrogen.

Watch Video Solution

https://dl.doubtnut.com/l/_JbzpSl6NA67h
https://dl.doubtnut.com/l/_JjY75oUXVPvw


71. Explain the exchange reactions of

deuterium

Watch Video Solution

72. Bond angle of water is reduced from

 ot .Explain.

View Text Solution

109.28∘ 104.5∘

https://dl.doubtnut.com/l/_o6oL8ePeobwX
https://dl.doubtnut.com/l/_nckSE08dTytx


73. How does heavy water react with the

following compounds? 

Watch Video Solution

Al4C3

74. How does heavy water react with the

following compounds? 

Watch Video Solution

CaC2

https://dl.doubtnut.com/l/_fFfg5CkWaVJV
https://dl.doubtnut.com/l/_kYTlKvqz9Fcs
https://dl.doubtnut.com/l/_VDqqLECsoW57


75. How does heavy water react with the

following compounds? 

Watch Video Solution

Mg3N2

76. How does heavy water react with the

following compounds? 

Watch Video Solution

Ca3P2

https://dl.doubtnut.com/l/_VDqqLECsoW57
https://dl.doubtnut.com/l/_T7SMsRocjmXw
https://dl.doubtnut.com/l/_oIAaPwNMh8xz


77. Compare the structures of ice & water.

View Text Solution

78. Can marine species live in distilled water?

Watch Video Solution

79. Can distilled water be called as deionised

water?

View Text Solution

https://dl.doubtnut.com/l/_oIAaPwNMh8xz
https://dl.doubtnut.com/l/_1bqRuXSZlhwG
https://dl.doubtnut.com/l/_SquxrrTwJTNo


80. Mention any two biological effects of 

View Text Solution

D2O

81. Name the salts that lead to the formation

of permanent hardness in water can you

remove permanent hardness by boiling?

Watch Video Solution

https://dl.doubtnut.com/l/_5DrvOCiyvI0i
https://dl.doubtnut.com/l/_2wQXXJxYoKqu


82. How will you regenerate zeolite in ion-

exchange method?

View Text Solution

83. What kind of compounds can be dissolved

and hydrolysed in water?

View Text Solution

https://dl.doubtnut.com/l/_xfY8WbDK4qAr
https://dl.doubtnut.com/l/_ne13jd3rRjSs


84. Water is a useful solvent. Which properties

make water as a good solvent?

View Text Solution

85. List out the properties th at allow water to

play a key role in the biosphere

View Text Solution

https://dl.doubtnut.com/l/_PnYTCbAx5CML
https://dl.doubtnut.com/l/_9WjFiooCY5qY


86. How does the hard water affect the

boilers?

View Text Solution

87. Soap forms lather with soft water but does

not form lather with hard water. Why?

View Text Solution

88. Why hard water is not suitable for laundry?

https://dl.doubtnut.com/l/_nocebPor8izQ
https://dl.doubtnut.com/l/_iXVWob0wtgjm
https://dl.doubtnut.com/l/_QXE6qsc6JCtR


View Text Solution

89. Identify the nature of hydrides that are

formed by the elements of atomic numbers 15,

19, 23, 44 with dihydrogen. Compare their

reactivity towards water.

Watch Video Solution

90.   How are reducing agents in synthetic

organic chemistry prepared?

https://dl.doubtnut.com/l/_QXE6qsc6JCtR
https://dl.doubtnut.com/l/_Jqy3IGpuNW6B
https://dl.doubtnut.com/l/_lyZfFtdQNYlQ


Watch Video Solution

91. What are the advantages of using

hydrogen as fuel?

Watch Video Solution

92.  Explain about Hydrogen sponge.

Watch Video Solution

https://dl.doubtnut.com/l/_lyZfFtdQNYlQ
https://dl.doubtnut.com/l/_LHt2TWtWN1bO
https://dl.doubtnut.com/l/_oS0WsQVvY1bV


93. How is hydrogen peroxide prepared on

industrial scale?

Watch Video Solution

94. How is hydrogen peroxide is used to

restore the white colour of old paintings.

Watch Video Solution

95. How is tritium prepared?

https://dl.doubtnut.com/l/_Plsv3g99XhlA
https://dl.doubtnut.com/l/_z6SzkbDhH0um
https://dl.doubtnut.com/l/_VPdab2sA0JcN


Numerical Problem

Watch Video Solution

96. Difference between ortho and para

hydrogen.

Watch Video Solution

1. An element (A) belonging to group number 1

and period number 3 react with dihydrogen to

https://dl.doubtnut.com/l/_VPdab2sA0JcN
https://dl.doubtnut.com/l/_rZlD9EaJ8TfC
https://dl.doubtnut.com/l/_PU1HqPUx41e2


form an hydride (B). The element (A) reacts

with the universal solvent to give a strong

base (C). Identify A, Band C.

Watch Video Solution

2. Identify the compound (A) which is a

universal solvent. Compound A reacts with

chlorine gas to give B and C. Compound A

dissolves in an ionic compound of silicon to

give compound D. Identify A and write the

https://dl.doubtnut.com/l/_PU1HqPUx41e2
https://dl.doubtnut.com/l/_WJUyULRzBiSU


equations involved in the formation of B, C

and D.

Watch Video Solution

https://dl.doubtnut.com/l/_WJUyULRzBiSU

